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PROVISIONAL ANSWER KEY OF THE WRITTEN EXAMINATION FOR THE
POST OF POLICE CONSTABLE (CIVIL) (MEN & WOMEN) (IN-SERVICE)
(387) POSTS HELD ON 21.11.2021

SERIES - D
1 A 26 A 51 B 76 C
2 D 27 C 52 C [ C
3 B 28 B 53 C 78 D
4 C 29 B 54 A 79 D
5 B 30 B 55 B 80 A
6 B 31 B 56 C 81 C
Fh C 32 B 57 A 82 D
8 B 33 C 58 C 83 B
9 D 34 A 59 A 84 A
10 C 35 D 60 C 85 D
11 A 36 B 61 C 86 D
12 D 37 A 62 C 87 B
13 B 38 D 63 B 88 C
14 B 39 A 64 D 89 A
15 A 40 C 65 B 90 D
16 C 41 B 66 A 91 B
17 C 42 D 67 B 92 C
18 D 43 D 68 B 93 C
19 A 44 D 69 C 94 D
20 D 45 B 70 A 95 A
21 B 46 C 71 D 96 C
22 A 47 D 72 C 97 B
23 C 48 D 73 A 98 B
24 C 49 A 74 B 99 C
25 A 50 A 75 B 100 A

J’\JOJU.U\ wm{-.?faaol:-} 202/

Date - 30.11.2021 Deputy Inspector General of Police,
Recruitment and Co-ordinator,
PC (Civil) Recruitment, Carlton House,
Palace Road, Bengaluru-560 001.

NOTE : Regarding any dispute in the Provisional Answer Key, candidates are advised to send their
representations/objection to the Deputy Inspector General of Police, Recruitment and Co-Ordinator
PC (Civil) Recruitment, Carlton House, Palace Road, Bengaluru -560 001 within 10.12.2021 with proof
of their claim. No Representations/Objections regarding answer key will be entertained after
10.12.2021.
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(a) 63.200.

(b) 10 8.0,
(c) 12 &.20¢.
(d) 40 3.200.
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WEOR CIRE Xoad, wotiess 2

(a) 5
(by 8
(c) 7
(d) |1
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OS]

Jgode Do, o, SF N0
TEFORT. CIRTL FRFCDY, D03 T 7
(@) B oF
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A person travels 12 km due North, then

15 km due East, after that 15 km due

West and then 15 km duc South. How far

is he from the starting point ?

(a) 6km

(by 10km

(c) 12km

(d) 40km

What number should replace the

question mark ?

AVANVAVA
NAVAVAY

(@ 5
(b) 8
) 7
(d) 1

Six persons A, B, C, D, T and F are
standing in a row. C and D are standing
close to each other alongside E. B is
standing beside A only. A is fourth from
F. Who are standing on the extremes 2

(@) AandF
(b) BandF
(¢) BandD
(d) " None of these

WWW.SHIKARAT.COM



th

~ | 4 Today is Swetha's birthday. One year

from today she will be twice as old as she

= i
1
' e NI '~ | '
o was 12 vears ago. How old is Swetha
25803 ORI 5:.1::5':."033@ B )
. ! '! today ?
) 1 )
Zez¥ TOBRs 3,2 i
Ca ~ X 1
(a) 20 ==Frsd ! (a) 20 years

(b) 22 years
(c) 25 years

(¢) 25 3IIFne

(d) 27 years
(d) 27 I=ENO

2007 T &=owo® 8 Tomd 3seT. 2006 T

5. OQn 8™Dec., 2007 Saturday falls. What

Baxowc* 8 TOT CINT TUTHNIET ? day of the week it on 8" Dec., 2006 ?

I R A=

(a) tPPITT (a) Sunday
(b) 20870 (by Friday
(c) =Donv=ev (¢) Tuesday
(d) ros=T (d) Thursday

LOTD TRESCIL LAT WRE W % 6. A cuboid has six sides of different
VOMYEY BRoOWHIB. S0y wrey 3F | colours. The red side is opposite to black.
" | The blue side is adjacent to white. The
| brown side is adjacent to blue. The red
| side 1s face down. Which one of the

i

following would be the opposite to

L STOTINTIEE. ed Ry WYoD
TEEOL. SOTD wny) oD TEHOT.

fog wRR WRNCQD. TWAIPNYY

R g, BT WRE QTOTAE ? | brown ?
(a) @ % (a) Red
by = E (b) White
() 8 | (¢) Black
(d) e E (d) Blue

{
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e

BRLE Solfivos JoL00AT Tamy
DL,

28 1 DoR. NS 1t WH & ?

« 8 A .

(a) BSOML

(b) =[RET

alternatives.
Rice : (ereals :: Tea!

]
!

(a) Pulsc

——— —— —— T ——— —— ——

(by Noodles
(c) SRReCNGL

(d) Opv DENsC

200 RRcINTY 24 roMnvd 5 2ok | 8. Aclock gains S minutes in 24 hours. It was

ool Berd. Reesoswd Wed 10 set right at 10 A.M. on Monday. What wll
notdrt TOCIRT WHCWRRY, FRedITOS be the true time when the clock indicates

SRR, I0OI  LPIITTOT
pteteveriomn) ::J'm 10:30 0 =sOoDBIE
RS o.aw *'mdrmm:maua"

10:30,A.M. on the next Sunday ?

(a) 25 minutes past 10 A.M.

mamg‘a Endowor  Fe3nt @ﬁﬁf is Kethan's ranks trom the last ?

RNBOTE 9
! LA = |

|
i
(a)  23%r 10 Rotd 25 RALRMEL i (b)y 10AM.
(b) ederi 10 rioed | () 11AM.
€ EALIT okt Y | @ Sminutesto 11 AM.
(d) odori 11 rowdni adg 5 RAWORVT |
LU LY LRIy FowWows | 9. Introducing a man, a woman said, “He is
Lerl Jeeod, "oID 3, Z200000 } the only son of my mother’s mother.”
K ~love on ) Lb;_}éf . &I & t How is the woman related to the man ?
o5 Igaﬁ ﬂﬂouomwm@ 2 | (8) Mother
(8) 0D I (b) Aunt
(b) Lsaq;de%mu/ﬂmddg i (©) Sister
o @ s
(d) =eeTo il |
|
!
42 Lo, RFTVTNE 3onded,, 26 e | 10. Kcthan is 8 ranks ahead of Divya, who
WITGTT  HIo,9N0T B3 8§ M ! ranks twenty-sixth in a class of 42, What

(d) I‘Ih ~Ath

(a) 11 Fcn (b) 24 oL : - (by 24

-3 ! ¢ - T4th
(¢) 25%® (4 WWW.SHIKARAT.COM @) 54
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1. Which of the following Venn-diagram
correctly illustrates the relationship
among the classes :

Carrol, Food, Vegetables

i
!
i
(b) . .1 (b)
!
i
‘ |
(c) | (c)
'
|
@ @DO DO
12. Ae3, 2¢NCE  XoTTmNmRY. e 120 Geeta is prettier than Sita but not as
OELRTR 0 . 4doT, ety vsfare: Thes,
(@) A3, DeENoS 2000 (a) Sitais prettier than Rita.
B) e o pp—— ! (b) Sitais not as pretty as Geeta.
il A e Ty
O e ——— (c) Ritais not as pretty as Geeta.
(d) Nem. DekmNes B0 | (d) Geeta is prettier than Rita.
i
13. $AHOS <80 TOMCLOR 0300 { 13.  Which set of letters when sequentially
“ - h i placed at the gaps in the given letter
CHmERA R0ARN GRS oione ! series shall complete it ?
Moosy SORY, PrFReeRdIs 2 i "BA BBA AB B
BA BBA AB B ‘ (a) ABAB
\ |
(a) ABAB i (b)  AAAB
) AAAB i
(&) | I (c) BBAB
(c) BBAB : p
= BBA
(d) BBBA ! SR
D -6
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14.

A person travelled a distance of 50 km 1D

L, SR, 50 3.000. TROSIY 8 meyy | 14, e
' a part of the ais
o€ T, c3REINTCRD. B[ noedri 4 3.Qve. E g hours. He covered a p
| - da
rie Jens, B ANRCNY. womd PSR, | on foot at the rate of 4 km per hour an
032 nieedr 10 3.8, Fend, SHRwod | part on a bicycle at the ratc of 10 km per
RNSTy, FFORCT  Fpeor  MROATRD. i hour. How much distance did he travel
eRND RO aﬁo:bq S d@dﬁiﬁa ] -
,cREINTRO ? ?
- R ! (a) 10km (b) 20km
(a) 10 8.50¢. (b) 20 8.2o¢. | ) .
25 k ( j m
(€ 25%ade.  (d) 35 8.0 : () 25km )
| : -ent survey report, it
15, Beodnisd . 33 B0t SOODY,, } 15. Sexepent [;1 1;‘;" ) yndio e
ok ._ , u
=8 3R LTI Tl 50, cXREEE), | has b&n Swle. it fose W ;: ¥ anh
grevuRS0, clRyde B m0b Rowods | physical exercise for at Icast half an hour
TS TTIED 30T 20T BedeRNS, E a day are less prone to have any heart
e, i allments.
1: ederizd 2z Sdses g Conclusions :
LT Got T, 0RED B, | [': Moderate level of physical exercise is
II: comsmnan BE8Rons (T8 - HRow) necessary for leading a healthy life.
U TRET LR HWH CBZIRACDL | II: All people who do desk-bound jobs
T30 TRCloTTIONT Less0 ; | definitely suffer from heart e e—
{_a ) Rz 1Zo ! (@)  Only conclusion | follows
(b) &exxnezIl 0 { (b) Only conclusion II follows
(d) 1 esgm (I Soche ,
i (d) Neither I nor I follows
16. QAR, RAS,SAT, TAU, | 16. QAR RAS, SAT, TAU,
(a) TAS (b) UAT | oF Tas
(c) UAV (d) TAT ! © Uav (b) UAT
| (d)  TAT
17.  Xowd 0O, 03080 Ndssed, owo* ] 17 Sponge is ¢
= (3] .
@ e @ Ma U @ rubber s to
) = l ssive
. | (b)  Solig
(©) g | ©  Elasic
d) wno/esss '
(d)  wro/ess, L ) Inflexip)e
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18. 230U 390, eds 0C B0CINT WoT

™'

mmmx.zsc 5012 00 ?

(a) TR TTIRT

19,

20.

21.

(c) étﬂtgs T WIRE

(b) A =zT=In

- ]

(d) zaI PBDICHRT I3

300 o3 500 T ST oy, Zesd,nes,

2sod), 4 w.ode D WAEE ?

(a) 99

(b) 101
(c) 110
(d) 120

Seant B wSFSog =
FONIPHrVE cIRFT BTCRNTIR

(a) VRTRT M

(b) FHeTPT IrBT LoWdIN

(C) 23T PREVTLTRETE

(d) =PNYE, LLIP

cIRT waRe /XY e BT
=, STONRIT ?
(a) oW
(b) Dweontmo
(€) TB&,oDTHT

(d) FeoNToPT0

;
|
I
|
|
i
i
|
|
|
|
i
|
|
|
i
!
|
!
|
|
!
i
r
I
I
|
i
|
l
i
|
:
i
i

-8 -

19.

20.

21.

18. The reason behind decrease in the

boiling point of water at higher altitudes
is

(a) High temperaturc

(b) Low temperature

(¢) High Atmospheric pressure

(d)y Low Atmospheric pressurc

How many numbers lic between 300 and
500 in which 4 comes only one time ?
(a) 99

(by 10l

(¢) 110

) 120

Which of the following are hazards at a

motor vehicle accident ?

(a) Sharp glass
(b) Jagged metal cdges
(¢) Slippery antifreeze

(d) All of these

What is true reflects whatis
(a) Believed

(b) Real

(¢) Popular

(d) Gnarly
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24.

25.

RTITE. S ~Rovirielyt WITF I3
WOFOUONN) oew TeTT TomIDoZ

(@) oA .w

(b) ==HFa

(c) O .o .2TF .40
(d) w3sdon

TRUIT ICITOIT YA oIns PeDIred

(c) <esdS 05 doxs 11
(d) SeHT01 doT 04
B FNSPWY, oIRT  SmHFIRn
IHOT oI 21 mw‘bow I8
53:5“2.1 Qeas ?
(a) 523D sToze
(b) 60 & Rlasbale
(c) 61 =ZD 5:33?&3
(d) 62 Fop schza
GoUSC0D ToLTHEE TIHe BARAWOIL
cangodactn 3 S50mEs ?
(a) T o3T BRED TR0/ TORI
(b) Zowmons Tourt
(c) wroeosnsd
(d)  wEek: (FeoT) S0 Doty NIV ST

sOTONY Towsd

4 i s i - e e A et . i, e i i, e i S . e . e A e

|
|
|
|
|
|
|
|
!
|
l
;
1
}
|
i

2
™

o
o

'
-

28.

The concept of Judicial Review in India
is adopted from the Constitution of

which country ?

(a) USA

(b) Germany
(¢) USSR
(d) Australia

Which of the following Articles of the
Indian  Constitution  deals  with
citizenship in India ?

(a) AArticle 333 1o 337

(b, Atticle 17 to 20

(c). Article 05to 11

(d) Article 01 t0 04

Which of the following amendments had
reduced the age of the voters from 21
years 1o 18 years ?

(a) 52" amendment
(b) 60" amendment
(¢)  61% amendment
(d) 62" amendment
The tenth  schedule of Indian

Constitution deals with

(@)  Anti-defection legislation
(b)  Panchaya; Ra)

(¢)  Land reforms

(d)

Distribution of powers between the
Union and Syaes

=
WWW.SHIKARAT.COM D



26.

217.

(a) 173
(b)y 122
(c) 1/4
(d) 1/6

8 FENSHNVE_ CIRTE 1o03E oR0ET
SRORVYRS SIS, M B wTOPOY ?

(a) HANFE TOO[I TR T

TR0

(b) FpE DIeeRS,  TINIII,

ZREIRT I3 e:zpad%mzdéia

(c) ©% B3 JIT0RN Badmed

Snories

d) g3r e

9%

£5QC0G, WIS

-

ROLRIRAIT TR TOUFTIY G100 aATTI0Z,

(a) oxoF L Hewst

(b) T CNRLCDI uzr et
() FRECT Fewr

(d) «E€HEIO

1
i
|
i
|
|
|
i
!
|
!
i
i
]
!
|
|
|
|
|
E
i
F
i
!

e e e e e s o i = . e —— ——— e ——— o 535 o | s i 08

26. The 73" Amendment Act provides for

27,

28.

the reservation of not less than how much
scats out of total number of seats for

women ?

(a) 1/3

(b) 172

(c) 1/4

(dy 1/6

Which among the following does not

come under Fundamental Duties of a

citizen in India ?

(a) “Fo protect and improve Natural
Environment

(b) To develop scientific temper,
humanism and spirit of inquiry and
reform

(¢) To strive towards abolition of
untouchability

(d) All are comes under fundamental
duties

The First Article of the Constitution

declares that India 1s a

(a) United States

(b)  The Union of States
(¢) Federal States

(d)  All are correct
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cInde  euBdRen MTwe 3don

ol Se8 LROE o Faied Uaa’,ema’p’ﬂ\é

DeTEO VFFDATT, BT I w&ﬁ

T, T2, IR0 39RTT ? \
(a) &8 300g A \2\
(b) =, mdomt;)wd) v’

(c) LreEzod A:Jeﬂcs‘
(d) e:‘.;mzp‘iicb

B FONTYNVE, CIRJTO SVTOTE, 533%

(ZE0)H dew T 9nE, T LT, BF3 e ?

(a) 30735 TFE SR SNTIER>

(b) e=To CRegxygcd ITR3IFTN
OMIFR ST CoNOUICES

() ==t canhe SOLITIOIT
BT 0B TRCHOLRTT

(d) e (RO & HcaRNTLER

No citizen shall. on grounds only ol

29.
e, caste, sex, descent, place

religion, rac

of birth, residence or any of them, be
ineligible for, or discriminated against in
respect of any employment of office
under the state. This right is guaranteed

by the Constitution of India under:
(a) Article 14
(b)y Articlc 16

(c)~ Article 19

€

@niclc 21
\? In case the President of India decides to

— i — A — e o —— o i —

Y resign, he will address his letter of

resignation to

(a) Prime Minister

(b) Chief Justice

(c) Speaker of .ok Sabha
(d) Vice-President

|

| 31. Which of the following is not a required
! qualification for the post of Vice-
i President ?

! (a) He should have completed 35
: years of age

i (b)  He should be qualitied for election
] as a member of the Lok Sabha

|

|

(¢)  He should not hold any office of
profit

(d) e should be a citizen of India

=qf=
WWW.SHIKAIRAT.COM D



33.

eO3T 5cgo CUTt W) BRUTT kST
(Ael) TS3T F13eDC B3O =) ?

(a) £ o 60 S o=,

RNV CIRFTH TR AP R LT

(b) 6 =&@F LTS 65 I=F T[T,
VR, CXRTHh R FTFLER 5D

() 4 == o 65 JIF SO0,
WPNFE OTTRHT0 BB TR e LT

(d) 60 e JeDy

PR3  ICATIT oS Sl )

WTERY, Wiz sodpr [UHESY

Bes3T ?

(a) SedS 124

(b) SeDI342

() SedT324

(d) SedS115

BLLCHT PTF T 2000

(a) PO P WC  CINYTe
3, 800000 ©98,T0ToN WOTIERFIE
30T WEONE TRTLO
W, CIRVCDOT s3e3

(b) S¥Ec3T W, AROCDTY,
TRE0ECIT TOsewFMON BT
OO 3 W, CIRUCIT e

(c) #deort 35, T Fnebzed SR

=, WRVSDOOT 4QTOR Liey

(d) oz wrr:- &, 800G,
20T 30&0“‘@:& DOFL) 2
9, 0TRVCDN0T 1Ties

|
i
!
!
|
|
|
!
|
I
|
!
|
|
|
|
|
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i
!

|
|
|
|
|
|
|
|
|
l

32.

I

4.

What is the tenure of the office of
Comptroller and Auditor General of
India (CAG) ?

(a) 5 years or age of 60, whichever is
lower

(b) 6 years or age of 65, whichever is
lower

(c) 4 years or age of 65, whichever is
lower

(d) Ageof60

Which Article of the Indian Constitution
says, that there will be a election
eommission in India 7

(a) Article 124
(b) Article 342
(c) Article 324
(d) Article 115

Habeas Corpus means :

(a) an order from a court to free a
person who has been illegally
detained by the police or any other

person.

an order from a superior court

calling up the record of a

proceeding in a inferior court for

review.,

(c) anorder from the superior court to
an official to show his right to the
office.

(d) an order from the higher court ©

stop proceeding in a certain case.
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36.

37

38.

s
G
iy
a
]
g v
7
2l
Q
.l.
9
" 4
C
b
€1
g

WNOTBAT =, 50

(d) oo, DERBILIODE).

DBTIT Sﬁﬁi ﬁ'acamud

‘\—-i

:;Cc-..wu-uw 19 e AR YiS ede
SIRPTT Wil TeIT 2
(a)

R 8 NS

FOTRIT TO0T YT TXRTE

(b) =5 =03 o3 3 W30, -
(€) ToF WBo3, T T8
(d) Soeoges TN wodnen \Zodye0

BReLTF 1T 30O 55:’:‘:

5 FFNIPNYY. cdns rooy PUSeoD

TOLTHTT Tk, LS JTHF IS SINVEY

LIRROBT ?
(a) 36-51

(b) 28-48
(¢) 42-56
(d) 30-49

33 INITCONYE, ot SeDT 356 ©

BB BTF TORSCHRY HERTT ?
(a) &,5o% e,

(h) oo TRom

(c) ovT-ooTe

(d) oex@3

35. Which one is NOT correct regarding

38.

Advocate General of State 7

(a) He has the right of audience in any
Court in the State Legislative.

(b) The Advocate General is the first
law officer of a State.

(c) e receives the Pay as per fixation
by Government.

(d) He has the voting right in the State

[egislature.

Article, 19 of the Constitution speaks
about the following :

«a) Equality before law

(b) Freedom of speech and expression
(c) Right io freedom of Religion

(d) Right to move the Supreme Court

for the enforcement of

fundamental rights

Which group of the following Articles of

the Indian Constitution contains
Directive Principles of State Policy ?

(a) 36-51

(b) 28-48

(¢) 42-56

(d) 30-49

Emergency under Article 356 is imposed

by which one of the below ?

(a) Prime Minister
(b)  Governor
(¢)  Vice-President
(d)  President

WWW.SHIKARAT.COM D



40.

41.

& woﬁezzﬁc‘m& 8 NS oes
tie&);ﬂ:‘i"‘m; FeAREE ©¥T 20
BCORT ?

b )

QICONTY_ IR Tody 200 TRTS wvoaric.f
=adnenis (NHRC) S, ITNTUeR ?

(a) oy &5, CdnReoT IE3 SoXerplA )

(b) x;ijzerz;;d mﬁaﬁwc&d msomcpe& o
TN T3 BRoOTT T

(c) =Spery, T,0IROODT WYY |
mﬁmmes

(d) POTST A5y 3 VLRRF WITS

3 TNTZPNvY TeT3T W CIREYTO A ?
a) =ox3) daesxyl SO cazsﬁzdz;ioxnag‘
LT

(b) ey L)

o

XORER  evegond

RBINeCs 8ok IndoIIE

(c) =oNES wmow! PJesY) tsq:’f_sid .
33 2o ’

(d) =oR3m  wows tﬁ:)ﬁwaa:ﬁgt
deesriyion A BTS00
F0CRMOI

i
{
i
|
|
I
|
I
|

|
|
|
!
|

e e e e i — S —— —— — T, T sty

39. Which of the following Articles is called

40.

41.

the “Soul of the Constitution” by the
Dr. Ambedkar ?

(a) Article 32
(b) Article 368
(c) Article 19
(d) Article 15

The Chairman of the National Human

Rights, Commission (NHRC) must be .

(a) Retired Judge of High Court

(b) A lawyer who has the eligibility to
be a Judge of Supreme Court

(¢} Retired Judge of Supreme Court

(d) Retired Attorney General of India

Which of the following is true about

Parliament ?

(a) Parliament consists of |.ok Sabha

and Rajya Sabha.

(b) The Vice-President is elected by
both the Houses of the Parliament.

(¢) Jownt session of the Parliament is
headed by the President

(d) Joint session of the parliament is

called by the Lok Sabha Speaker.
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43.

45.

Sogsonoy aIRs Sedoh wodotnnd? | 42,
f
(a) ormEsy | (a) Calcareous Rock
) f '
(b) 3Q‘5@ | (b) Igneous ROCIZC
(€) DoERIRLFT } () Metamorphic Rock
|
(d) =asdoun i (d) Scdimentary Rock
|
|
| : - i biosphere
43. Which of the following
" ~ ) 4 -~ P
s “m;i’w BT e l reserves was first established by the
SATR (ROS XeF m@&k& ? I Government of India ?
(@) ROOTTWT WCIRACIT® LOETLO | (a) Sundarbans Biosphere Reserve
(o) N, o DR wades 0BT ! (b)<. Gulf of Mannar Biosphere Reserve
e <y Nanda Devi Biosphere Reserve
B [P = _— (d) Nilgiri Biosphere Reserve
(d)  QEOND WCIRACITT T
ot WH e S0 | 44. Musi and- Bhima are tributaries of
river.
VTINSL.
(a) Brahmaputra
® 235 (b) Mahanadi
adi
(b) =TSO |
A " (c) Kaveri
(C) Fomtd !
_ | (d) Krishna
(d) ﬁowﬁ |
Sound, DTesEe ©siad 30 5 i 45 ﬁj;ﬂligﬁid::g:: river island n the
S 110G
O3 -
B _ | (a) Arunacha! Pradesh
(a) OOMRUC T,TET } B
Ss
(b) emacC |
- I (¢) Nagaland
(c) TmoB |
s | (d)  Uttar Pradesh
d) 30,03 .
el e WWW.SHIK[I&SRAT.COM

; —
gandstone 18 which type o rock




46.

47.

48.

49.

& 89NT Srancsnive) CIRTS RO3T

. - - “ A
S, TR DRODT SHT 9

(a) 69°30C

(b) 7S5°30'E

(c) 82°30'E

(d) 90°30'E

WIS, i <ne® ATOM Y oy o)
T, 83, 03 BeOVTNTS
RS 9 «

(a) B R Eellevels

) sy

() ==,

(d) SSIINGY vl

BOWNSYINYY, cnd  weascd
SITTTRTQ, T, BAR T eI
©9.?

(a)
(b) t¥mes®
(c)
(d)

TEFD TYIV T2 JoTIF PO B

TWCLRY  BECOIF. el wE
SRS BOT TR mmg
SBOIBT. 28 9

(a) BT0 T FO I Sesaond

(b) 2T MLCH DI ZARTOITINGS

(c)
(d)

R FMTvAL0T Brondd
SV 3T Sneaniss ATPOY,

1
1

——— ] T - s .t it R T . o e
e e e e e e e e e e e e et e = e
o — ————— - — —— ——

- 46, Which

47,

48.

49.

-16 -
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of the following longitudes

is the
Standard meridian of India ?

(@) 69°30F
(b)  75°30:
(c) 8230
(d) 90°30'F

Which of the following is the most

abundant metal on Earth’s crust 2

(a)

Magnesium

(b) Iron
(¢)  Copper
(dy.  Aluminium

Which of the following is NOT a primary

green-house gas in the earth's
atmosphere ?

(a) Methanc

(b) Ozone

(c)  Nitrous oxide

(d) Hydrogen

Why does Western Ghats and Fastern
Ghats both receive sufficient rainfall but
Deccan Plateau receives scanty rainfall ?
(a)
(b)

It is a rain shadow arca.

It is located parallel 10 wind
direction.

It is away trom the coast.

(©)

(d) Rain bearing clouds are absent.



Ln

R
pa Dam is located on which nver -

AT Bl 0N Foody =2 |
RTR BT 2, M9ed 030 09T 9 | 50. The Su
(a) ¢ 1 (a) Kali
}
(b) ®[ed | (h) Kaveri

(c) Boomeitm, (c) Tungabhadra

(d) I= (d) Krishna
SRWG. hE TAokE XE0mOcs | S1. Which of the following energy i NOT
SdoDHoNY, ? q
(a) 3Ioen sy

(b) BRTDT B
(c) =onT vy B3
(d) oo

from sea ”

(a) Wave Encrgy

e —————— —— -

(h) Geothermal Encrgy

(c) Ocean Thermal Energy

(d)y ‘Tidal Fnergy

52, Gonsider the following statement(s)
_is/are related to the Western Ghats

#“

T TUASH  TOWORRT a?"ec-*a'ﬁe:-:%

L

Ty e
ZONESS.

13

I. [t run along the western edge of
India’'s Deccan Plateau and
separate it {rom a narrow coastal
plain along the Arabian Sea.

=

P PROSE BT T[T AW0D
TEE wouR WRo3E 4322
elenohs IRNET WO
T TSe AN
=, 3 e33030

1. & Zecdcks ORI DT,

i o = )

[I. The range runs approximately
1.600 km from south of the Tapt
River ncar  the Gujarat-

ABch IAeTITOS 3T SOOD Maharashtra border and across

T rahod 0N DT, R, Maharashtra, Goa. Karnataka.

ST0F L8, FeOV 0B IQROTBING | Kerala and Tamil Nadu to the

Jeos BT Toterod QeTc southern tip of the Deccan
peninsula.

BOoHTER  Joosedd 1,600

8. 20, SO 0,808 Which of the above statement(s) 1s/are

> t?
Ebi s Eeedrve, CIRRT /R RO ? vorree
I'" : Code :
¢ (8]
(a) #ezol (@) niy1
(b) Only 1

(b) gemwll
(c) [0l 2082
(d) T=ol1ley

(¢) Bothlandl]
(d) Neither | nor 11

————— —— - — e . . e, et

|
-1
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5.

n
wn

&

BUROPCID B IFNT
30 NOTIFROIT ?

(a) ﬁx;:frj:a{; SORLITECIHT WIS,
(b) B TeoT, — TerodT 0T

(€) eotxotd® s — oo
(d) SoBLISeRcis" I=00T, - B T,
SRINEH. T Dwooedpt oLT
RQUTTIFL a0IRRE ¢ (UNESCO) &3,
TICTVCD oeesNT 2 )
(a) ..Mg Ceftnis.

(b) ©v3T I,3eB

(€) To:E

(d) EWE

.Ju... BOBRNCEY, W RSIIIY

;anjdbcu. ToBeOTIeBS ?

(a) :edséseﬁvm

(b) dS=TI

(c) =

(d) w»ETedeod TSy
TR 53,08 IS TITO

(a) RCIToBY {xa‘;jmeiwu‘)
(b) gﬁ&)m-s fov e

(c) &rTpuoR0t

(d) SoxenoT*

WNSPINYE, IR ZOOIRA
Tpch¥cinhe, ?

(a) wmwrdon® - YR werme
(b) SRcrew - ocowmd

() wFifmer - 3;»@;::5:;
(d) S, NIc OB

e,

i
i
|
|
|
i
|
|
1
{
!
|
1
|
i
1
i
|
E
?.
l
|

|
l
!
|
|
!
!
|
!
|
|
|
|
|
|

I

| s3.

|55

| S6.

57.

18-
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Strait of Gibraltar connects which of the
foliowing ?

(a) Red Sea - Mediterranean Sea

(b) Red Sca — Arabian Sea

(c)  Atlantic Ocean — Mediterranean Sea
(d) Meditcrrancan Sea — Black Sca

The Khajuraho Group of Monuments
is a UNESCO World Heritage Site
located in

(a) Madhya Pradcsh

(b) Uttar Pradesh

(¢c) * Mabarashtra

(d) Rajasthan

Soil erosion on hill slopes can be
checked by

(a) Afforestation

(b) Terrace cultivation

(c) Strip cropping

(d) Contour ploughing

The lowest layer of the atmosphere 1s
(a)
(b) Thermosphere
(c)
(d)

Stratosphere
Troposphere
Mesosphere

Which one of the tollowing 1s not
correctly matched

(a) Darjeeling — West Bengal
(b) Mount Abu - Rajasthan
(¢) Kodaikanal — Tamil Nadu
(d)  Shimla - Uttarakhand



Match List-1 (Peaks) with List-II

$RLTORN BORPOT FOIIT 0%, (A) (B) (€©) (D)

-] (B60070) WA T (wmraney | 58
TROOX | (Mountains)
| ‘ ist- Il
| st-1 List
wed-1 T[a-11 | I B
T = ; (A) Dhaulagiri 1. Nilgiri Hills
! ONC Dee o 3
(A) o I ReCND wrish ; (B) Gurusikhar 2. Satpurd Range
(B) naxcodxer,, 2 AOIT &0 : (Cy Dhupgarh 3. Vindhya Range
(C) Taafot 3. Jomm, & | (D) DodaBetta 4. [limalayas
(D) Cl'adu:i’t:; 4. HLIROODL 1 5. Aravalli Range
5. I, I{ Select the correct answer using the codes
|
J | 2 3 4
(A) (B) (© (D) (@ | o
@ 1 2 3 4 g 3 4
® 5 3 2 1 Q 4y 5 2 |
{c) 4 5 2 ) i @ 2 3 ] 4
(d) 2 3 1 4 ‘

59. Which of the following endangered

species is found in Kaziranga National

B NIINGY, BPAIoBIQTT IS
E,ﬂwfaﬂ%\: go2oon majm &n‘:m&aﬁ

e SR st O o e e e ey oy

59 o LTESS ? Fk. !

(8) o Eron oI (a)  One horned Rhinoceros

(b) &sH 30Z (b) Snow Leopard

(c) o7 0yE %, 0w o' (c) Spoon-billed Sandpiper

(d) 2zred ouTpe (d) All of these

IV, O ST, I pure | 60, Which_ot‘ the following forests that arc
T, 00 BN T08) BorERT found in the Western Ghats. hills of the

north cas :
DERELITF OIS B0 WTEES ? cth castern region and the Andaman
= - and Nicobar [slands ?
«(a) z:; oJ
4 (a) Mungmnve FUrt'Sl

(b) s TEISew TR
(b) Dry Deciduous Forest

(c) ©FTCONT I, BOTFHF [-ple) ©)  Tromical &
_ = » ropical Evergreen Forest
(d) 8 TR T FOWHRW ) sts

w 4 Se e C ‘;l i
{ g oL

|
o
o)
g
)
&

X<, SNE
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6l. n.g_aﬁ@"i. ERoDA.
Hin Soadnd :;w TS0
(A) mortpee 1. 20 :gsaimr.licdso‘
(HRR, %000 Srodn ZeodE
o35S 50 8. 20¢.
Ny Boed 3T
(B) OGReachc’ 2. e Eed 3o
0B) 4TIOCIT NS
=
(C) veantney 3. @m-magcmwm
(ucinen o) VOO TOT he0aR
Recd |
(D) scnzorieey 4. moroey, chimmcd}ta‘
TR TOTVTTLT
SOTNTR),
LINRORTOFT Sweh
zose
(A) (B) (C) (D)
(a) 1 2 3 4
(by 4 3 2 1
(c) 3 2 4 |
d 1t 4 2 3

62.

SPYNYE, L B3 oA 0D 286

€3, 2020 £33 01 For RUI Hpov

Oots,3oNG ?
(a) wa=:
(b) DG
'
(c) BZoreE
(d) oomm

1
|
!
|
|
l
|
|
|
!
|
|
i
|
|
|
|
|
l
i
-2

61.

62.

Match the following :

Earth Spheres  Characteristics

(A) Hydrosphere 1. It lies above 50
km which
coincides with the
thermosphere

(B) Lithosphere 2. Earth’s crust and a
lower portion of
the mantle

(C) Biosphere 3. Earth’s water
which exists 1n
both fresh and
saline form

(D) lonosphere 4. Zone
incorporating
clements of the
hydrosphere,
lithosphere  and
atmosphere.

Code :

A) (B) (C) (D)

@ 1 2 3 4

(b)y 4 3 2 |

(c) 3 2 4 1

@ 1 4 2 3

Which is the first state in India to
implement the New National Fducation

Policy 2020 ?

(a) Odisha

(b) Maharashtra
(¢) Karataka
(d) Rajasthan
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63

66.

I sodnensy
TRUE DI

bl Pud

a-ugé_EZ‘F' SEAhEY

i's'.‘,ﬁ?'\
WROST T i‘aiJ U 3@ e pd ?
[~

(a) 03 I563
(b) 3Boomes

() BoorLsE

(d) Seo¥w

LT TIANS  WBCRIE ?Jdi ~

COP26 9 I3 ?

(a) ooET

(b) S@FFwn'e

(c) E:?G,{‘J'!E‘

(d) maTiee

BIFUE  IBF O DT 0,00

IEId nPpesd S BesY
DEOCHT  PAFOST  SNENIR
CralepiSy oI erBoR, T, BOWAT.

(a) Vo

(b) mdmtar

(c) omze et ( msasﬂ nes)
(d) oxMvd caIRITe vy,

winewo 2021 U9, smruE FEANTS
S0, 70, CRENRSF O3RN
Feorieom=ce axRod ?
(a) m,0hTRdr DeIOT BTX
(b) T, oDTREF SO00" BoRR0°
(c) mo,00REF SRTZT* U465
(d) mgmsr 07 0. DOR’

|
]
|
i
|
|
i
I
|
|
|
i
|
|
I
|
|
|
|

. S, S — i Sl Wi S S——————— S———

-6,

64.

65.

5
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Election Commission of which

The Statc
10 conduct India’s first dry run

state 15 S€l -
for “Voting through smart phone "

Andhra Pradesh

(a)

(b) Telangana
(c) Karnataka
(d) Kerala

UN Climate Change Conference COP26

was held in

(a) London
(b) «kdinburgh
(&), Paris

(d), Glasgow

Karnataka Govemment has launched

scheme to meet nutritional needs
of pregnant and lactating women in rural
areas of state.

(a) Udisha

(b) Mathru Poorma
(¢) Midday meal
(d) None of these

Who has been appointed as the Chief
Justice of the Karnataka High Court in
the month of October 2021 ?

(a)  Justice Ritu Raj Awasthi

(b)  Justice Aravind Kumar
(¢)  Justice Mohammad Rafiq
(d) Justice R.V. Malimath



67,

68.

9.

70.

SRF0R Teowxo
W,08° (NaBFID)z
BSuS O @Teawod

%o has been appointed as the Chairman
of newly constituted development
finance institution - National Bank for

I SEENIDIGHIDL T | o T and
(a) 230::‘: [ 30lyv fey (@)  Chanda Kochar

(b) 3;\. T (b)  K.V. Kamath

(€)  wBacs Qnmes Ashok Bhusan

(d) SRees ooy (d)  Vinod Raj

|
|
i
i
j
1
| (c)
I
S 0T 8eT (1ens) 5
|
i
i
|
|
i
!
|
|

. 68. Blue Flag certified Beach “Kasarkod
PIoCRRERD  wes IRFWEE  odng | beach™ is situated in which district of
[=fevelalaly Karnataka ?
a) e (a) AJdupi
(b) w3 “.,-F" (b)  Uttara Kannada
() i 333 (¢} Dakshin Kannada
(d) =FPrvd onFYze B0 | (d) None of these
ERFLT XF O B NS cInT [SUI\s IR 1 69. Government of Kamnataka has decided to
S0TY EF (Spices Park) U#%ZDQM&'J establish a Spices Park in which of the

CroRT 2 ! following district ?
(a) 3.;_‘,'»1%63 (a) Mysore

(b) WTmuInc (b)  Chamarajnagar
‘©)  BETIERT: (c)  Chikkamagaluru
(d) ge@En: (d) Kodagu
SRTOICHTHN

CIRE Oot, T &0l
&0, S YY) %, 9, OXRLORT
8, chone T 7 TR w,0oyad ?

70. In a first, the High Court of which state
has started live streaming of its court

proceedings 7

i -

(a) mouoYe (a) Gujarat
(b) Zecomes (b) Telengana
(¢) ©=9 (¢) Delhi

(d) TmFus (d) Karnataka

!
|
|
|
|
|
!
|
|i
~22
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7M. Wk &IROE T eI Wersss
aIRT ?

72, 2021 OO T I o, T BRI
CIROM AeFeR WX ?
(a)

(h)

LT WUF
T TXS

(¢c) Tuoesc®

(d) SDIeeeEf eSicol

73. AT oIS a%.rao&gg cmu:f

-~ nt
[ o Lo

“Feeoumarnca”

2RODTT 2

W 01s.0

SeF e80T
telacachs

] tove]
4

op Iy
8 9

!
S5 TIE & ¥ =33 g )
OC,JXE € A% T LTS CING

(c)

o) el ol

(d) AR ueic,

WWW.SHIKARAT.COM

. Q_w»
>

(a) JR=EFw ( \2\ i

Who founded the “Bahishkrit Hitkarini

Sabha™ ”
(a) Mahatma (iandhi
(b)y E.V. Ramaswamy Naicker

(¢)y N.M. Joshi

(d) B.R. Ambedkar

Who was awarded Dadasaheb Phalke
Award 2021 ?

Amitabh Bachchan

I@@mal Hassan
* Rajinikanth

(a)
(b)
(c
(d) Manoj Bajpayee

Which of the following Hoysala rulers
had the title “Nolambavadi Gonda™ ?

(a) Vishnuvardhana
(b)  Veera Ballala |
(¢) Narasimha |

(d) Vinayaditya

Kalpa Sutra, a Jain ancient textbook
containing the biographies of the last two
Jain Tinthankaras is written bv:

(@)  Kautilya

(b)  Bhadrabahu
() Ashvaghoshy
(d)  Sthulabhadr,



~
f

5. NI IRT ScBT wogsE A0

76.

Th

-4

T RN I mOCHT O

TS, F20BTY_ WRIOWAT: ?

(@) Lonoear wees B e we

(b) =3 e w3 FYO it

() .8.3038c0* TR NRes* o eso
P el

(d)  PrzRoN*, TOMTHTD S8 Mt

SR8 ez@c&ba‘ RO 12,3800 Tope

TAREROR IS0 T, o3, odRHTD ?

;

(a) ﬁ%mm oo,

(b) es35°

(c) ai:scamam‘si WBPTR {

(d) oot \
/N %

18570 wenic> ®CNR ) NI

Beedrivmy MR : -

(1) ==oine im‘:;_;'ood xa::cc,ﬁ‘ HBTOO,
Srobrt (508, F5) Dot workeds
ZHoUWoR

2) w3 ST O, T Bo0R0L TOWECD

m%:bz: ZePENYOT FOOIRTLTINY, SOA.

(@) (1)a%3,
(b (2) ==

(c) (1)=20(2) OB
(d) (1)=o33(2) v

L

i
f 75.  People gathered at the Jallianwala Bagh

|

77.

- 24 -

Massacre to protest against the arrest of

which of the following leaders ?

(a)  Khudiram Bose and Prafulla Chaki

(b)  Satyapal and Saifuddin Kitchlu

(c) V. D. Savarkar and Ganesh
Damodar Savarkar

(d) Bhagat Singh. Rajguru and
Sukhdev

Which was the first province annexcd by
theBritish through a Subsidiary alliance

“{3.'!'-. Mysore State

5

G) Awadh
(¢) Nizam of Hydcrabad
(d) Marathas

Consider the following statements about
the causes of The Revolt of 1857 :

(1) Introduction of the Enfield rifle

with the cartridge greased with
animal fat.

(2) Introduction of Doctrine of Lapse.
Choose the correct statements from
above.

(a) (1)only

(b) (2)only

(¢) Both(l)and(2)

(d) Neither (1) nor (2)
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y Indian

5 st adad Al e el g i g 1 iS thc 0[11
18. TNSZRYE, CHTHTO %31? F3Consy | T8, wWhich of the follomng .
: N ley Civilization Sit¢ which has an
TRODIT D88 AT gl | Val cy. ;
ROE303 TAS 2 !._ artificial dockyard ’
(a) TTT | (a) Harappa
(b) HeTorrmedr | (by Mohenjodaro
(¢c) Trewared (c) Dholavira
(d) Snpege (d) Lothal
| . Granth. the first rendition of Guru
79, TO0 A7 ety 3 et demNeing | 79 Adi CGranth, ’
) i Grantha Sahib was compiled by
LB ON, 0TI, TOFOLTIT 0T 2 | _
(a] r’-nv-*«_ ir-"ﬁpr-ol,--—g klﬁri‘ i (a) GUI’U GObil’ld Slngh
(b) 7T sone* E (b) Guru Angad
(€) ot B0 Reeod Codr ! (). Guru Har Govind Rai
!
(d) 1O ezoFT e i (d) Guru Arjun Dev
!
80. CIRJYTT 3T “T, I LT A g % i 80. “Treaty of Madras™ was signed after the
SRR (a)  First Anglo-Mysore war
s b it » | |
(a)  Sade sorig - SHReoeednd . ! by Sevonl gl Mysors wis
(b) «o@EsScH vortp - HIR®L a0z | -
J oo E ) | (¢} Third Anglo-Mysore war
(€)  Teosed sorg - et odog | @ ¥
i ourth Anglo-My ;
(d)  =oFcb vortg, - Rt c30r | nglo-Mysore war
Bl otas A g goxgoomn | 81 Due to the efforts of which of the social
1856 T O YITwmE mobohay | reformers, the Widow Remarriage Act of
BONCEOTTROD) ? | 1856 was passed ?
(a) oo arReema CoodF ! (@) Raja Rammohan Roy
|
(b) oconIoT Jox3 | (b) Dayananda Saraswati
(c) =¥ouer Qo wnct ! (¢)  Ishwar Chandra Vidyasagar
(d) Fe3er wsom, Je i (d)  Keshab Chandra Sen
25—
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82. In which of the following Indian Natiopg]
SOTBITY, ORI &&éﬂv Congress sessions was the resolution on
NF a‘.bﬁ'ﬁi SoNeFOXRCD) 9 Fundamental Rights passed ?

(a) TOPYT wOIeBI (a) Haripura session

(b) odme soTe3 | (b) TLucknow session
() nodn epIes E (¢) Gaya scssion

(d) 308 [ es3 (d) Karachi session

83. Dok vdReER X0 SoISATY ) ORI, 83. Which of the major edicts of king

Ashoka gives information about victory
over Kalinga ?

(a)< Major Rock Edict 111

(b) Major Rock Fdict XIII

(¢) Major Rock Edict X

(d) Major Rock Edict V

IPONT TN LBONT Ined VRIS 9

(a) 30020 dn mx3 I

84. WzTOHCT AT TeriosRE: 84. Who led the sepoy mutiny from Bihar ?
TOOF FATTTO oIRTO 7 (a) Kunwar Singh
(%) S (b) Nana Sahib
(b) = R&Y _
(c) Khan Bahadur Khan
(c) &»= u@d%c‘ o

. Arrange the following Satyagrahas in
85. SN BE, N TNVR; 30T LS 5 .

order
1. Ahmedabad Satyagraha

7. Champaran Satyagraha

1. (= Fvelmmtantal m N

N

il 33?)(‘5!"‘ n o
3. Rowlartt Satyagraha
Select the correct answer :

3. daus‘.@:, n&

't
|
|
i
’
|
|
§
!
|
1
|
|
Tantia T
(d) =% el | ll (d) Tantia Tope

|
|
i
|
|
|
ROOLRT MJE‘U"'*W S0A. I
|

|

|

@ 1,2.3
(_a) 12,3 (b) 2‘3,1
(o) 2,31 () 1,3,2
© 132 @ 2.1,3
(d 2.1.3 l
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87.

88.

89.

WECR[NCT RS TowT/w88,[3F e
URFTE, ATed T TR B TeE* Peud
eRzoe ?

(a) Cesoeodl

(c) 5(_:&_:33:5:;:3033

e
(d) s 3TeR

E
!
(by Cessoeodll |
i

86. “Go backto Vedas.” This call given by

(a) Ramakrishna Paramhansa

(b) Vivekananda
(c) Jyotiba Phule

(d) Dayanand Saraswati

iraveller Abdul Razzaq

87. The foreign
the

visited the court of which of

Vijayanagara cmperors ?

(a) Devaraya |
(b) ._ﬁf:aya 11
€
(c)Wi nadevaraya

\'}d.):‘ Achyutaraya
RAva

L 3
¥

8. Who is the author of Devichandraguptam

TOI0 OBYH, TuRTT de@zﬂor:;mi\

FTT TeslsTO 0TRT ?
(a) exooAcE

7
(b) vz W,

() BT

(d) =53 [

!

onAT clRs  w0IeIScY, “speror !

ROt T weRE B3 WOMIE MODOIRN i

AEBOTEIONB) ? |
(a) RTRET* . %
(b) ®oF |
(c) =0~ |
(d) o !

composed during the Gupta era ?
(a) Amarasimha

(b) Kalidasa

(¢) Vishakhadatta

(d) Shudraka

89.  Inwhich session of Congress the demand
of “Purna Swara|™ was accepted as the
aim of the Congress ?

(a) Lahore
(b)  Calcutia
(¢)  Madras

(d)  Nagpur

27 -
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90.

) 8

92.

93.

et (SONAR)
z.:@::mmgﬁ 9

(a)

330
<

XTI

YO, TR, I TBEED

(b) SRRy B L o BT,
TIZIL0

() OCedade OMTTRY urie’ (zodeE)
e.‘“«oﬂ mmg&emmcm

(d) Qedwnz ToTTITN

WO S maﬂx'somoi: THTD oXndo

TOWcoR oA 9

(@ &

(b) =Trdz
(c) a‘ehuof

(d Sy

q;s‘c:w FTeaoand oot IO

CIRYTT 3283 ST ?

(a) wERFO mdr}a .

(b) DT eotinees -

(c) HOCHT O W' TRPFLS. .
(d) R0 oo P3S

e BBy, T, T FrROERTY, m oEmeN
LTRSS, B4l [eTntef
() [ NI IWLT 2T DR

ST 62..; ToT8

(b) = A WD VW, VI
=T

(c) BT AT I TIE ) L
W, T T

(d) DR cARITR )

|
i
!
‘
i
1
!
I

2.

92.

93.

|
|
|
|
|
|
|
|
|
|

l

.
WWW.SHIKARAT.COM

90.

SONAR is used for
(a)
(h)

To locate a satellite

Detecting and locating the position
of aeroplancs.

(c) To rcceive a signal in a radio
receiver.

(d) Underwater communications.

Permanent  Revenue  Settlement
Bengal was introduced by :

(a)AChve
(b
(c)
(d)

of

Cornwallis
Hastings

Wellesley

What did the Hunter Commission,
appointed by the Viceroy probe ?

(a) Bardoli Satyagraha

(b) Khilafat Agitation

(¢) Jallianwala Bagh tragedy
(d) Chauri Chaura incident

Mica is extensively used in the Electrical
industries because

(a) it's a good conductor of clectricity

and bad conductor of heat
(b) It's good conductor of both heat
and electricity

(c)

It's a good conductor of heat and
bad conductor of electricity

None of these

(d)



o4 NG CIRTITR) TS $B08 WIS | 94,

95

96.

97.

- -
dasssord Ebnr&:‘mm:gu ?

(a) e’ 5'-,’,“% (&n® 20T) -

(h) 20IBROD 3 (X D0T) .

i

(€) oray (hee) -
(d) oo e (Cree DO
863 CeBrvd), 3es, WO FHF* G

Ao B WA Seerodss, aws U

(a) TR IJCRT LIE .

(b) 2edI FTF BrONT (LEeT)

(c) TREBFTLIT JOBT e DVOBZBT |
(d) =Prv 200 Jocipels TOFRD

(a) eds m%eﬁc’ra .

(b) 3| 0BT

(c) ©OBRCT IQINTR) Jimd TBRE
d) =PIV IR B,

ARV, CARYTRY A ADET (0T

a;'js;:-a, ) SCT FOCRTRNRZT ?

(a) u.}dﬁa'w‘

(b) g

() TR
(d) ook IR

96.

29—
D
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95s.

!
|
|
I
!
|
|
| 97.
|
!
!
|
|
!
l
l

. ey
Which of the following 18 considered &

: vz B
the purest form of tron

(a) Pigiron

(b) Castiron

(c) Steel

(d) Wrought iron

In the cold countries. during the severe

winters the pipelines often burst because

(a) Higher atmospheric pressure

(b) _Water pipes contract

(). Water expands on freezing

(d) © Combined effect of all the above

Froth floatation process is used to

(a)  Water purification

(b) In esterification

(¢)  Remove impurities from the ore
(d) None of these

Which one of the following is also called
“wood spirit” 2

(a)  Butanol

(b)  Methano|
(€)  Ethano|

(d) Isnpmpan ol



98.

100.

WS CIRT SronieRy DOFR Bo3EY
o 4 ™

Bo'a (DNA) O e InaES
WIZSrOIZE ?

(a) -eo'axto

(b) T» ) B uactira::.rag 3 cdoess

(C) &aFo OIes

(d) e cdexe

T e et | e 8 s e e Y —— T ————— e Sl S o8 WS Wt e+

98.

Which of the following enzymes s useq

to cut DNA at the specific point ?

(a) -RNA

(b}  Restriction endonuclease
(c) DNA polymerase

(d) Cellulase

WOmD DOFR, Spea* (3o8e3) wRHch), | 9. Inacertain code language, ‘PROBLEM’
2UT LYY il : ,
» a3 (PROBLEM) t":‘)’a IS written as MPERLOB. How wil
LT LT 2T LW (MPERLOB) ooy | \
) ; ‘NUMBERS' be written in that code
WOODERNS. esde L ICRe i
R
ST RO VASTRX  (NUMBERS) | (a) SNUREMB
O, Jeri wICHLRRRETS ? ‘
1 (b) SNRUBME
(a) ST RTCIETANT/ SNUREMB |
(b) STt cIvaRT/SNRUBME | (©) SNRUEMB
(€) STITEOCIV T /SNRUEMB
(d) STITETCLONI/SNRUMEB (d) SNRUMEB
|
SRS zi:*ﬁzmz:;dd{)_. ‘tpeezipL ' ot 100. In cell biology the term “Totipotency”
TTg cIne HouR,BIOVR XeukBB? | refers to potential
(a) WeOPYTON <R, LT LeDERe : (a) to divide and produce all of the
Ava TTRROD S LT ORI ; differentiated cells in an organism.
(b) o>  ART 0 gReInvd ] (b) todifferentiate into any of the three
CIRPPTTR  WCTRN I DN : germ layers.
%‘%Eﬁr‘w I (c) to enlarge the size of the cell
(c) weIEREIT m@aﬁﬁ% &J};‘Jw i (d) All of these
(d) [RNTYLHYUP ‘
WWW.SHIKARAT.COM
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